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AHpyn = [2(- 273 KJ) + (-1220KJ) 1= [-21 kI + 4 (0.0KJ) ]
AHpxn= =1745 kJ

J=di
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CHygt 202¢ —>» COq

+2H20 () ‘ AHpyn = ? ‘

(AH; H,0 =-286 kJ « AH;CO,==-394 ki ): A dgall cpssill 3 a ol Lale
(AH; 0,=0.0 kJ« AH;CH,=-75 kJ

AHpyn = YAHf (@) = YAHf (“Dlelid)

AHpxn =

[AHf CO, + 2 AHf Hy0 ]-[AHf CH, + 2 AH;O; ]

AHpyn = [ (- 394KJ) +2 (- 286 KJ) 1= [(- 75 kJ) + 2 (0.0KJ) ]
AHyyn =[- 966KJ) 1= [- 75 kJ ] = - 966 KJ + 75 KJ

Aern = = 891 kJ
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—> 4CO2 + 4H20) : el il g} y2aad AHcomp 29l - 36
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a-  %Nyg + %0y —» NOg AH;= 91.3 kJ
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